Page 1of |

REAL
SAFETY

It's all about people

FPR Stair Tread Installation and Cleaning Guide

Assembly information

Grating example: 38 x 38 x38 mm

Contact us for full ammembly kit.

Pos. Description Material
1 M type fixing clip SS
2 Stair tread MESH 38 x 38 x H38 mm FRP
3 Hexagon bolt M6 x 60 SS
4 Hexagon nut M12 SS
5 Flat washer diameter 12 SS
6 Support angle L75 x 50 x 8 mm FRP
7 Stringer C 200 x 60 x 10 (alternative 150 x 45 x 8) FRP
8 Hexagon bolt M12 x 45 SS
9 Flat washer diameter 6 SS
10 Hexagon nut M6 SS
Cleaning

Regular cleaning will keep your grating product free of debris and looking new.
Products are easily cleaned by high-pressure water or steam - or just a normal broom.

NOTE: Do not use steel brushes or chemical cleaners on the surface.

Auktionsgade 5, Ist floor, 6700 Esbjerg, DK | realsap@realsap.com | www.realsap.com | +45261144 66 | CVR: 307218 6 20
B S - |



